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235 | ASTH A2 Faks B A el 14,800 | 1 14,800
236 [ALUXE L2 Foi| REO| Q1|7 LIEHRLCH Of= E}7}3|AL 2| =FE010| 15,000 | 1 15,000
237 (XL ™ Ex g ojA=Az|0} 14,000 | 1 14,000
238 (07|= R30[U| : MAHEL| AlZ 40| £30| MEZ3HA 14,000 | 1 14,000
239|07|= 2™ 50] Lzt 1 zas 29 13,000 | 1 13,000
240(017|1= =8y 50 Ltat 2 Z2F Z4 13,000 [ 1 13,000
241 |0{5 & 2X| Oy X3 LEENW 15,000 | 1 15,000
242 (&2 o Y HIof EAGL O|&Hd el k| 12,500 [ 1 12,500
243 | & U} H0| 333H! st (elsh MARIFELOf 15,800 | 1 15,800
244 | B M &9 ol 0l&3 & 25,000 | 1 25,000
245 |2 M Ao EBto|YZ # oy ME 14,000 | 1 14,000
246 |0 & ot7| 22| O| &2 O|R2|§A 17,000 | 1 17,000
247 |RE R T HOIRle X HE2 AAY L] 14,000 | 1 14,000
248|252 58 18Y MEI =22 13,000 | 1 13,000
249 |2=2 He| 27| Ao 0|72 SHE 16,800 | 1 16,800
250 |84 EHRy FCHA 4873 F=EHo 2L 12,500 | 1 12,500
251 |S8% MdEol atst JHE AP sa% CHtoj 2ol 22,000 | 1 22,000
252 | R T MUl X2l =3t HE A S8y CHeto{2io] 22,000 | 1 22,000
253 | &Hd ATk 4K 48z 9 Ik P 16,000 [ 1 16,000
254 |<f D47t St SAFHQt HIH =HSIRA 17,000 | 1 17,000
255 | &M Wt k= AL 1 582 A2 EE 15,000 [ 1 15,000
256 | MY Wt sh=AL 2 582 A2 EE 15,000 [ 1 15,000
257 |R2| Xt YA oM e 16,800 | 1 16,800
258 |22 sUHl= BE XY =4 SEOIE 16,800 [ 1 16,800
259 |2l &a e FAPNE:! THEERHE A 16,000 | 1 16,000
260 [22|= E0|0} oge OFX} 15,000 [ 1 15,000
261 |22l= X|F0ot20| &Lict: 28 7|2H 4oz 9| E2{3AH 16,800 | 1 16,800
262 |REl=2 AHE7| 3 HiE R, Tt CHeto{2io] 15,000 [ 1 15,000
263 |REIE2 OtX|E vaE EolE0{ 0| 13,000 | 1 13,000
264 [2E2|=2 MES AESHIE LT S| N, AElA =¥ CHatoj2lo] 15,000 [ 1 15,000
265 (R[] FUIAZT MARL HS%t X 14,000 [ 1 14,000
266 | =220l = A EHEa gy o 13,000 [ 1 13,000
267 |I2EY 042 mal 6 =3y ] 15,000 | 1 15,000
268 R/ ot= 00| B Rl ZIHE 13,000 | 1 13,000
269 |25t HabE: & ETV MEE23tAb 13,000 | 1 13,000
270 | 2%t &otd: ot EHETV MEE2Ht 13,000 [ 1 13,000
271 |O[ALEEE 2 11 sl HINAH 2ot 13,800 | 1 13,800
272 |O|At=2EE F 12 SHE|t HINAE St 14,800 | 1 14,800
273 |OlAtZEE & 13 a2 HIHAE EgE 14,800 | 1 14,800
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274 0|2 23]z} X235t & 13,800 | 1 13,800
275 | RH2Fo| Ho|H 1 HX2,0laH ZFLEETEAL 15,000 [ 1 15,000
276 |HZR{EZ= CS2i0ipDE Oflf? FAPNLS: Edh 13,000 [ 1 13,000
277 [ EZE= otz HAE e 4 A= of? ZOotLt Eds 13,000 | 1 13,000
278 |[HER{EZ X ZSSEWALE of? MexExoq = 13,000 | 1 13,000
279 |RHE R EX SHO|AFS OfIf? otg EdA 13,000 | 1 13,000
280 [R=R{Z= SHIg|oj= ofl? 2714 Edxn 13,000 | 1 13,000
281 |X== Qle xlot SO0/ =05 12,000 | 1 12,000
282 |Huol o S CHAHO( 210 14,000 | 1 14,000
283 | HAf A HALFD ZX| OF2t SHE[E S Aot 14,000 | 1 14,000
284 [™2|st= of 20| 4ozl e 1= 14,000 | 1 14,000
285 |™o|of 2t o|+t3 OlX| & 15,000 [ 1 15,000
286 [=7H o[of7| o A UA olzE 17,000 | 1 17,000
287 |FTR; Tt ofl2| AlolE} ojz§orof(Df2iM&B) 13,000 | 1 13,000
288 |X|THE {ot 2l AS EH|ZE} HIEXLY| 2 st 16,500 | 1 16,500
289 [X| 1 HIEI £ &= A= AIQl ZE A TOSS A2 ST Zyiofzlo| 15,000 [ 1 15,000
290 |X| S £ H St Eh! 0|83 o o| X 16,000 | 1 16,000
291 (X2 & = Qe el E2 28 & oHEE 11,000 | 1 11,000
292 | ek 1o O|A|Ztet o2 =2 oee 16,000 | 1 16,000
293 |MS EH et deg 15,000 [ 1 15,000
294 |NME e A=K 1 olzg 0|2 oto| Nl = 15,500 | 1 15,500
295 |8N 2R SEA a0l EES 14,000 [ 1 14,000
296 [HXH OJAF A4 1 Z=0| A EH| 13,000 | 1 13,000
297 | M oA AldEE 2 Z=0| HAEH| 13,000 | 1 13,000
298 (X8 E Hg| RS MAHAZFELIOf 18,000 | 1 18,000
299 (XS4 Y OB AL F (2T Bi|O| 2| 2 Hll = Y HEE=t-ES 10,000 | 1 10,000
300 [=5etdE 9ot CIX|E EEQ 227 matsty| Hsd, A0 a4 20,000 [ 1 20,000
301 [EEaE 2ot a2 atstdd 365 FROL Mt ol 10,500 | 1 10,500
302 [£|Z 184 O|M& FFL0f 15,800 | 1 15,800
303 [ZHRERR 2hAte] ' 27| HX[ 1 2e|d =H JIESCETEES 16,800 | 1 16,800
304 (272 E BHXH ™= Lzlgn 16,800 | 1 16,800
305 (2HE3H =47 ol# g ENHA 16,800 | 1 16,800
306 |23 A ES £ MEA ol DOboha 15,000 | 1 15,000
307 |[EF2EQ| Bt 4x|gl StEs5 34,000 [ 1 34,000
308 |E77| M|UFARRE AlH|DH HHhE a4 SHE 13,000 | 1 13,000
309 |E7712f xet 2R =HolF 15,000 | 1 15,000
310 |HCrel Eto|A mOH| 23| 0| H L EEf K| 18,000 | 1 18,000
311 |2l AR HE 2 Lt & 14,000 | 1 14,000
3 |EExE Y 253 %53 2| 16,800 | 1 16,800
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313 [ZEHE o2 A0t o023 CHE 13,000 | 1 13,000
314 [FE HHRE Y2 M AFEZ ol&HE 2 g M =G 19,000 | 1 19,000
315(8tn ¥ Ctsdd Ol2X| H &4 13,000 | 1 13,000
316 [SHE&EQ| OfZI0] W EQHH 2 olEH CHetOj 210 15,000 [ 1 15,000
317 [eH2HE2| 020 nEoHH 3 StEH CHtof2lo| 15,000 [ 1 15,000
318 [2H2H Q| O2I0| WESQtH 4 oHEH Chtof2lo| 15,000 | 1 15,000
319 [l E 24 SX|0f el | 11,000 | 1 11,000
320 |SHI|E{ 2G| O] HHS|L} AEREE 17,000 | 1 17,000
321 (@A A5 AtA =g OpFot EQIE0{20| 14,000 | 1 14,000
322 |= 0|5 FE 245 H &4 15,000 [ 1 15,000
323 | & Who? special =511 AEE|RY CAtof2i0] 17,000 | 1 17,000
324 | = who? special 0l0|E E CiAtof Z10] 15,000 | 1 15,000
325 | & who? special 2EtL| £3]0| AER| H CHAtO] 20| 15,000 1 15,000
326 |=otEol utst Sty 12 3B 2tA SoHEDY FLOj A EA 14,800 | 1 14,800
327 |[=aHEof atet By 13 A ar 3 =ot o) FLIO| A} 14,800 | 1 14,800
328 |=otEof Hit MA o 4 SoHEDY Oj2fNoto| M= 14,500 | 1 14,500
329 [ARIE0| At Liat NE=El ZEMES 11,500 | 2 23,000
330 [L2flo| Y ot || 32| AE offkA =295 15,000 | 1 15,000
331 &K, K=, 7t=7} M =HsteA 14,000 | 1 14,000
332 (7MHOol = Eta e & 10,000 | 1 10,000
333 (3o EY & HaH EhAA 15,000 [ 1 15,000
334 |22 A2|X|? AEY X 7 A ETA} 15,000 | 1 15,000
335 [=2 3t FARNES STUFL 0 18,000 | 1 18,000
336 [0 20| & ?lot ot=2| Z K| O|0F7| o|get ZtHHE 12,000 | 1 12,000
337 [ 22| BIHE0| SA HEA EHPNIGEY] 10,000 | 1 10,000
338 [*2|®Oo| O &=O0H X|QtLt ot e IHYLIR 16,000 | 1 16,000
339 |24t £ X|FO| ey S AL 9,500 [ 1 9,500
340 (2L FoilA 0|85 =22 12,000 | 1 12,000
341 [sHHt2E2|7F & R4t HM= 0 2 13,000 | 1 13,000
342 [515{ EOotH %] PN AHAIE 13,800 | 1 13,800
343 | 4EfQ| Hotz| dEAM| PES I Rl 12,000 | 1 12,000
344 | D EIXS XK F HE 2 E = 17,000 | 1 17,000
345 | BtA Q| JtH g 2 VP 12,000 [ 1 12,000
346 |7 Aote AS Ltz ZE W Hsg S22aA 22,000 | 1 22,000
347 |1 = &Y HER EIEES 19,500 | 1 19,500
348 |[ER Y A= Aol o5 19,800 | 1 19,800
349 (2T A4 229 71 CHAbxH Bt 13,000 | 1 13,000
350 [&Z0| Ht2hE mj Z ZetLE| SEET 16,800 | 1 16,800
351 [2E2|7t AHS o|ZICt AEEN Ae|z 17,000 | 1 17,000
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352 |OtH| & A gl HEE Chabxg 22,000 | 1 22,000
353 |¥=+&0] 100 X2 2 St MENE 20,000 [ 1 20,000
354 |9 SAl2 CHE AMEE 2ol &1 A7t g Eotetol= 14,000 | 1 14,000
355 [F12| CH2fA 1 HELIE HZH 2 RS 16,800 | 1 16,800
356 |o| CHZHM 2 HIELIZ HEHZ2 gUME 16,800 | 1 16,800
357 [ASSHA| o™ 2 HH K| @i=Ct B210[Q Eg|0[A| oiix|d 16,900 [ 1 16,900
A 5,082,200 | 369 5,222,200




